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A SEEH
3 sEFEF0A
ol SEFEFNHADIBES EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
sEEdl 22,816,233 21,837,172 1,279,061
= 1,690,662 1,090,500 600, 162
z 8,615,401 8,615,341 60
< 809,942 589,961 219,981
= 1,000,000 1,000,000 0
= 8,088,228 7,629,370 458,858
= 2,612,000 2,612,000 0
SEEF0 2 R 20,8%4,624 19,834,835 1,059,789
= 1,500,000 900,000 600,000
z 8,560,000 8,560,000 0
< 470,400 290,400 180,000
= 1,000,000 1,000,000 0
T 6,864,224 6,584,435 279,789
= 2,500,000 2,500,000 0
SEIFFNAI IS 18,866,671 17,806,882 1,059,789
= 1,500,000 900,000 600,000
= 8,560,000 8,560,000 0
(= 470,400 290,400 180,000
= 1,000,000 1,000,000 0
= 4,836,271 4,556,482 279,789
= 2,500,000 2,500,000 0
LELS A ENL AL 131,269 271,480 A140,211
207 ARl 64,670 67,000 22,330
01 H1E4H] 64,670 67,000 12,330
OsES2EHIAY oI =8
d& 19,670,000 19,670 22,000 22,330
307 2I2to1 ™ 48,179 186,060 A 137,881
05 2IZtAEZ 48,179 186,060 137,881
Osdz s lJdd 2gh]
3& 48,179,000 48,179 186,060 137,881
SO0E FHAXNS HEA WA 223,000 223,000 0
as 155,000 155,000 0
< 20,400 20,400 0
= 47,600 47,600 0
401 AlZBIL STy 0 223,000 ~223,000
z 0 155,000 155,000
< 0 20,400 A20,400
= 0 47,600 NA47,600
01 Al&HI 0 223,000 A223,000
020238 sO{E FARA MEH HEAS(
U=BE) 3F 0 0 223,000 A223,000
z 0 155,000 A 155,000
< 0 20,400 A20,400
= 0 47,600 AA4T7,600
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403 XX SIS XHZOI & 223,000 0 223,000
= 155,000 0 165,000
= 20,400 0 20,400
=z 47,600 0 47,600
02 IS UICHEI = E 2/ AL 223,000 0 223,000
02024 SO{E HUX MBI HEAI(
adE BEI1R)(DSBE)
223,000,002 223,000 0 223,000
= 155,000 0 165,000
< 20,400 0 20,400
=z 47,600 0 47,600
328 227 SETAFHIAY 1,200,000 0 1,200,000
2 600,000 0 600,000
< 180,000 0 180,000
2 420,000 0 420,000
403 KX SIS XHZOI & 1,200,000 0 1,200,000
2 600,000 0 600,000
= 180,000 0 180,000
2 420,000 0 420,000
02 2O ASHHE R H IS AL Y| 1,200,000 0 1,200,000
0O2gE 3N SETAIHIA
1,200,000, 0002 1,200,000 0 1,200,000
2 600,000 0 600,000
= 180,000 0 180,000
2 420,000 0 420,000
S EPIIEE 2,027,953 2,007,953 0
IENESTIBES EOYETESEINET 150,000 160,000 0
401 AIEBI L2 TH| 137,000 132,000 5,000
01 Al 137,000 132,000 5,000
O2MOI(0IR12]) DHEBHED AT
A 40,000,002 40,000 35,000 5,000
400 QIR 20/ 10,000 15,000 25,000
01 QIR AI B (RRITHR) 10,000 15,000 25,000
O2MOI(0IZ12]) DHZRHS DAY
A3 10,000,002 10,000 15,000 5,000
Ol2H(AHE22]) OIS SHE DI AL (R EIALY ) 400,000 400,000 0
401 Al&HI L S CHY] 136,000 81,000 55,000
01 Al 136,000 81,000 55,000
Ooe(AF22]) DFSRHSDIAY
2% 136,000,002 136,000 81,000 55,000
400 QIZHRH20IH 264,000 319,000 55,000
01 QIR At B (RRITHR) 264,000 319,000 255,000
Oere(AE22]) DS RHEDIAY
A 264,000,002 264,000 319,000 55,000
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sEE=dst 1,781,344 1,637,379 143,965
= 190,662 190,500 162
= 55,401 55,341 €0
< 339,542 299,561 39,981
s 1,083,739 979,977 103,762
= 112,000 112,000 0
AsHENE 690,481 679,646 10,835
= 146,462 146,300 162
= 55,401 55,341 60
< 113,214 113,173 41
s 375,404 364,832 10,572
HsAHELR=T 22,979 12,500 10,479
101 QI24H| 10,479 0 10,479
M IRIMZZ2E 2 10,479 0 10,479
OASHEXLHE JI2tH 221 E1X2
10,478,810& 10,479 0 10,479
SENE F20E S 740 480 260
= 462 300 162
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= 194 126 68
301 EtE NS 740 480 260
= 462 300 162
< 84 54 30
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OsZEMgs20ls IEdstus
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= 462 300 162
< 84 54 30
= 194 126 63
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as 750 690 60
< 135 124 11
= 315 290 25
301 LEtENS 1,200 1,104 %
z 750 690 60
< 135 124 11
= 315 290 25
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OsEdgs20is 28ty N
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z 750 690 60
< 135 124 11
= 315 290 25
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s 103,410 76,860 26,550
= 100,000 100,000 0
402 SIZERHE0| M 247,730 209,800 37,930
L= 44,320 32,940 11,380
i 103,410 76,860 26,550
= 100,000 100,000 0
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OZsIIHet HHl 35
ZF 247,730,000 247,730 209,800 37,930
= 44,320 32,940 11,380
fa 103,410 76,860 26,550
= 100,000 100,000 0
SRU=sI sE HAIST 72 XN2A 95,200 0 95,200
= 28,560 0 28,560
= 66,640 0 66,640
301 LeEN= 95,200 0 95,200
< 28,560 0 28,560
i 66,640 0 66,640
14 J|EtE2 &S 95,200 0 95,200
Os2lldisot =38 HAIR 728 XS AM
o 95,200,000& 95,200 0 95,200
[ 28,560 0 28,560
[ias 66,640 0 66,640
Hegs(s=23) 96,353 21,046 75,307
SEIE (=821 96,353 21,046 75,307
HMET BXAY BrEg 15,975 15,968 7
802 Btet=DIEt 15,975 15,968 7
01 2 NEBxIBHE= 11,079 11,074 5
O20228 = sE=H XS AE Ol X+
4,270& 5 0
02 Al - EHIE=SEtet= 4,8% 4,894
02028 = sEFHM K3AAS OIXtH
1,280& 2 0 2
HMEZ0|E EXAIY Btetg 80,378 5,078 75,300
802 Btet=JIEt 80,378 5,078 75,300
01 =1Ex=ttets 60,234 234 60,000
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